\\\\\\\\\\\\\\\\\\\\\\\\\

Qkuv@ MR
u) Vx = X3 V‘:xs ) M/:B’Xl
(‘ — 4
Jc )T (2 Vo=t v Z2(x4a) 4
/ r
/ _Vur —V u
)L(K)\- V) -

4
_ (] 35— ZM x>
(et F

3 R
o (x44)3x>— 2 x> 367 3x> _2x? x =3~

(x4 1)3 - (x+4)3 T (xt4)?
E\'\«JCL\\A("M—
B A ( fr 0f
jo= % fe fe,

E?wufac(ﬂcr ads @ wef (evﬂLCV V’éawf J[ (x) = xp/]

= L= Floo=27 £ =6 x 7
10 ’(ﬁ?? = ()7 = flon = = S(=ea)"C .y

Weider tn oler ag“"‘ﬁ

(x) = Siv (Y3 MCHQ(AV’ 1”
Q 5 ) o uF:éi‘Fuub{ o\, ﬁ (u) =S$cw (u)

) 2
-f(x):(’,o$(x3>' 3x f.,’(%):cos(o\)

tmhere rum L{‘?ow ]{»\L(x):_ X3

c) L(x) -:ex)o (Sc‘w(xl» f;’ (x) -—3)(1

= eXF(SE“' (Xz))'coﬁ(fl)‘ Zx \ exp(x) = e *



F’G&Z‘/b\\nq Be ‘)[raxﬁ/) /F\AM ‘A‘[fa\q
v

-E(x\ = “{Y-f’l)B[ V

Fall uwterscl ec‘o(cwa/
1. Fo#l: (x+4)3 S0 & x>-
i) = (v41)°
Flo9 = 3 (x4
2. Fall: (x41) <O & x<-1
-Jf(yj = — (Y—f’l))
—f'(x) = “3(x+4)>—
Beiole Fikle {14 = ity
JCU() = g )(2( — x)'

'S:(X)"‘ | x |
‘1) = +4 f’(>¥é

flo==1 ¢ xco  laicl
{ o) & wichy ofef.



Tcu/ (07 Po€7h @ An

B}.P'_ To.yga,,— pe (7 (][f»{r ,{(x) = ‘(v\ (x) e X, = -1 0::;: 0s3
qu‘(iber f(’1.§) = ’{\4 (45') Acrza‘«\,\ev\ “"‘#

LS&" v () //4 1
1) | 3[( > 3[ (") = ?3 (x'xo) = Q + 4-’(;(,4)
0 n (x) 0 2' .
A % = x 7 I -f(%(xq) + _}%{x—/r)
2 ’X~z 1 N B
2 2,7t > ’T;()"O: (x»4)~§(xr4) + (v —H
4 , —(x¥ //// - -

Y (1.5- 1) = g—% = 0415 =~ Li(18)
Resfa&edab;c&&‘lzumg qf’dr x & [-’1 '4.§j

] il

Xo Néit\crmaoﬂfe/&_
C f;—[ OBQJ’@ £C(AV'OA\:\ LLC QZ:ZY ‘ f(?z(.)‘ :”"’é)(’q ‘ = é K-tf
{va I\,\'}ﬂer va /¢ C’l;d.f?

\We:? lft‘)(*)‘ me toton (o‘(&uo{ st st oAerm Linle Raud

ewe Obere Sclirank C = é./’-q = C (\\F
{

\

)

\ \
A A.5

G 4
IRoog| = my R [ R, (4-3‘)( = 0.0156

Probe | fules) - S l =0 01120 < (R, (15} o



‘T;tv(f?f' PoZy Scu ws
(h) )
w | £ f /
O Sim (x)
1 cog (x) A
2 — Sin (x) o
3 — Cos(x) -1
(f Rcv (x) O
S| ceswx) 1
C | —S5¢n (x)
Rest
st C=a  weil [ §9gl=

[Reog] = 2 €

V2021-11-17 Seite 4

o/{

)

+O+-;.L‘x‘
3 <

X
L X

x _
1! -F </
O_27§$-&@

Ps (0.3) =

Tro(?c /7 bsclia “ch,.& %«r
ch\(X)[ st wie 7,(0/32«- ole 4

fRf(o.J)[: A+ 40" ¢



Extrew wefe

f(x):' ><3 ‘BXZ

\Vo e ?)Zv\ e /c Le Ex fr'ew werle

' =3 = 6x =0 & Bx-C)x =0

or

f(x): Cx 'C
{fty = -6 <O
,f

”(2) =12-(=¢ >0

 (x«-2).3c =0

& x=0 v x =0
Sfu\c‘/{ Waouwlid afen (F E/\‘fre\mq

=> T’e(‘ /YG(X[V\/.CAMA e&_ K’:O

=D " Men e 6@,“ X =2



Weuw Ae pun bf

eiw ' Pau bt om Ava F\F (x) Aac (¢ V‘&'V\Mf\-vvvg Ver LQ//&

wé C&scevl (Vo\/\ Lav\vex S Liow (ta\/

oJer [ Ltow [Ao\v - L\.ov\ veyx
+\‘\/€'4 Je ‘A/CMU{&"Q\M@,M,Q[C
x owﬁ,u«‘[‘&
f

/ kowve s [ loulav

V2021-11-17 Seite 6

x3
7 o
/o



Mittwoch, 17. November 2021 ~ 11:28

F& o wc[c(ae/ %C\res'Za(A[ ‘6 wlro/{

f4) = f— + 400 + 34°

wniv ivaal 2 (vt U =F0000)

(,gg; {((H:"%, "’3152:0
é) ?_t(f —_ M = 70 OO0
T oAas Tluivaen, 2
f’(({\: Zt(f% 4 /(8& > 0O weunA L(>O,_ 6>O
{”(40) > O _<\_/> a(_ga /v e,
((/’L\/ 3{3
10 D



